T&T6 2.9 Factor Theorem

Exercise 2.9
1. Show that (x — 3) is a factor of x* — 8x + 15.
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2. Show that (x — 1) is a factor of x* — x2— 9x + 9.
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3. Show that (x + 2) is a factor of x* + 6x2+ 11x + 6.
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4. Show that (x —2) isa factor of 2x* — 3x?— 12x + 20.
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5. Investigate if (x — 2) is a factor of x3 — 5x? + 8x — 4.

1CC2)=° (2)> - SG) +8(x) -
= § — 20 + (4 -Y
= -24% +24
—=o \7e,s' A fadme

6. Show that (2x — 1) is a factor of 2x* + 7x2+ 2x — 3.
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7. Investigate if (2x + 1) is a factor of 2x* — x2— 5x — 2.
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